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2A:

X XH -
o=

SRl =0 AR B0 B 2 4oty (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 0I2r9|e2 8,000 8,000 0
OFZ U Lolo] U #A 2
8,000,000& 8,000
DIESUI=gN=, 63,931,956 57,141,824 6,790,132
= 51,145,565
Al 7,671,834
- 5,114,557
301 EtE N = 63,931,956 57,141,824 6,790,132
= 51,145,565
Al 7,671,834
- 5,114,557
01 A2 HSHS(RNEERTHE) 63,931,956 57,141,824 6,790,132
OJl=g=2 X 63,931,956,000& 63,931,956
= 51,145,565
Al 7,671,834
- 5,114,557
WOt ATALHHE 36,400 36,400 0
Al 18,200
- 18,200
307 elztol & 36,400 36,400 0
Al 18,200
- 18,200
1 AMISXAIEEXS 36,400 36,400 0
OMIt=Ql AAHE 36,400,000 36,400
Al 18,200
- 18,200
2 RaaeH 282,100 268,450 13,650
Al 141,050
T 141,050
307 glztol & 282,100 268,450 13,650
Al 141,050
- 141,050
11 AMEISXAIEEXS 282,100 268,450 13,650
OZ=2Ag REa4 282,100,000 282,100
Al 141,050
- 141,050
ZZ2AE & Mool PEHESAIA SSAH E X2l 51,124 39,622 11,502
Ab I X
Al 20,304
- 30,820
307 lztol & 51,124 39,622 11,502
Al 20,304
- 30,820
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. digtE LISXIAR 5
SRl =0 AR B0 B 2 4oty (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 51,124 39,622 11,502
OABAY U Y0l 2RHLTAL o
AL 2 FelAl el2iKIE
20,304, 000& »2H 40,608
Al 20,304
- 20,304
OLoI=X2 ZelAt FHIFIHIA
10,516,000& 1 10,516
CLOIREZA A2 ZHIZZ AL 2,000 2,000 0
Al 1,000
T 1,000
402 QI+ X201 & 2,000 2,000 0
Al 1,000
- 1,000
02 QI A2 AL E R (01X THE) 2,000 2,000 0
OLIRE3A AlI|2 FHI22AS
1,000,000 204 2 2,000
Al 1,000
- 1,000
HEE =8 o & o K& At 2,890 2,715 175
Al 2,890
201 er=2 3| 2,890 2,715 175
Al 2,890
01 At2tltl 2,890 2,715 175
ONgES =8 o & 02 X& At
2,890,000& 2,890
Al 2,890
sSEE=SI5tE X 229,600 327,300 A97,700
Al 114,800
- 114,800
307 elztol & 229,600 327,300 A97,700
Al 114,800
- 114,800
1 AMISXAIEEXS 229,600 327,300 A97,700
O=tg=a2te X&E 229,600,000& 229,600
Al 114,800
- 114,800
LoIgrESSAHIA R 1,681,672 1,575,523 106,149
= 1,177,170
Al 252,251
- 252,251
307 21201 & 1,681,672 1,575,523 106,149
[ 1,177,170
Al 252,251
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X XH -
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Chel: Ol AMSl Al ST U MEOHY (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 252,251
11 AMEISXAEEXS 1,681,672 1,575,523 106,149
OLoIXESSAHIA 1,681,672,000& 1,681,672
[ 1,177,170
Al 252,251
- 252,251
LOIISSSMEIA BAL MMM 6,650 5,700 950
Al 6,650
307 glztol & 6,650 5,700 950
Al 6,650
10 Al2ISTIAEEE2HIEX 6,650 5,700 950
O QI E==SAMHIA SNE>
1,250,000 1,250
Al 1,250
O IXESSAMEIA SEAZA T
600,000 600
Al 600
OLIUESSALIA S|
4,800,000 4,800
Al 4,800
LIRS SSMEIA SAK wSHl X 20,000 28,800 8,800
307 @I2to1 & 20,000 28,800 8,800
05 git?(& = 20,000 0 20,000
OkIStE=sSAHIA SAHAL 1Sl X
20,000,000 20,000
loT XIS otAE 116,292 112,310 3,982
Al 58,146
- 58,146
301 EtE N = 37,820 40,250 A2,430
Al 18,910
- 18,910
03 A2 H A0S (XILTHH) 37,820 40,250 A2,430
OloT XIsE et E (017172 Hl)
37,820,000& 37,820
Al 18,910
- 18,910
307 lztol & 78,472 72,060 6.412
Al 39,236
T 39,236
11 AMEISXAIEEE 78,472 72,060 6,412
OloT XNIs8 AHE(SERS )
75,372,000& 75,372
Al 37,686
- 37,686
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g digE LoISIIAE 5
SRl =0 AR B0 B 2 4oty (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OloT NSH otaZE(22ll S 22lbIB)
3,100,000& 3,100
Al 1,550
- 1,550
SHCO - e SsSHEYAMEIA 118,892 0 118,892
[ 58,236
Al 31,538
- 29,118
307 el2to| & 118,892 0 118,892
[ 58,236
Al 31,538
T 29,118
05 2IHRIE S 118,892 0 118,892
OSHEQ! - Hifel SsSHEHAEIA
116,472,000& 116,472
= 58,236
Al 29,118
T 29,118
OSHEQ! - e SSLHEAMMEIA 5
N8 = 500,000 500
Al 500
OSHEQ - e SSLHEAMMHIA S
il 1,920,000& 1,920
Al 1,920
LRISTIAIEXA 2,846,432 3,302,515 A\456,083
= 113,459
Al 1,174,773
- 1,558,200
LOINItAE 2S 1,200,775 1,260,924 260,149
Al 601,063
T 599,712
307 212to1d 1,200,775 1,215,296 A14,521
Al 601,063
- 599,712
05 2I2tRIE =S 1,147,175 1,161,69% A14,521
Okel=A2 28l X2
1,087,975,000& 1,087,975
Al 543,988
- 543,987
O02al QIZFAIE &8 KIIESAtY
11,600,000 11,600
Al 5,800
- 5,800
OLeI0INE SXNE+ K&
4,350,000 4,350
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X XH -
o=

el =eISXAIEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,350
O=QI0{IbAIE AZH T
1,400,000 1,400
Al 1,400
Okel=X2 S SAML S8l & 2elkt=
S (HMA) 15,600,000& 15,600
Al 15,600
O#=3t 028 ZSYA ALY
6,250,000 6,250
Al 3,125
- 3,125
OYBX Iz 1K /YA
20,000,000& 20,000
10 Al SXAAEEHE 22X 53,600 53,600 0
coltisr 244l A 53,600,000 53,600
Al 26,800
- 26,800
LoIE2 JIsEZ A 100,000 0 100,000
Al 50,000
- 50,000
401 Al HIZL 201 100,000 0 100,000
Al 50,000
- 50,000
01 Al&H| 100,000 0 100,000
Oei=sX2 JIs22 &AIEH Y
8,600,000& 8,600
Al 4,300
- 4,300
OLQ=XZ JIsEd SAHI
91,400,000 91,400
Al 45,700
T 45,700
2 023 E=SAY 251,358 249,200 2,158
Al 120,679
- 130,679
307 gl2to| & 251,358 249,200 2,158
Al 120,679
- 130,679
11 AMISXAIEEX 251,358 249,200 2,158
O32Y HItEs E5AY
241,358,000 241,358
Al 120,679
- 120,679
OZ2Y HIIEst B2 AY 2HIFIHKZ
10,000,000 10,000
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el =eISXAIEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
tetcelsl S X3 169,539 167,041 2,498
Al 23,036
- 146,503
307 el2to| & 169,539 167,041 2,498
Al 23,036
- 146,503
03 PIZAHHEE 22X 169,539 167,041 2,498
Olfgt=elsl S7X2 28| A 123,468
—ARRH - 2F 01| K
43,202,000 43,202
—=234l K& 80,266,000 80,266
OZ2Y &=3|Z2 03 2Ae|Xt Q1]
38,071,000& 38,071
Al 19,036
- 19,035
Oteteols S7X2 284l It XA
8,000,000 8,000
Al 4,000
T 4,000
d=ed =29 N& 507,914 525,707 A17,793
Al 188,290
- 319,624
201 fet= 3| 148,764 165,937 AT7,173
Al 44,215
- 104,549
01 At22t2l] 39,604 56,776 AN7,172
OZz2g 2g2d 2 3,080,000 3,080
OZzd s3I |FA2 3,960,000& 3,960
OZ=d SIIEE)| gtz
32,564,000 32,564
Al 16,282
- 16,282
02 s3=gHl 109,160 109, 161 AT
OZ2¢g Lat2te|tidt]
113, 1253 x Q0 -+ 123 12,218
OXIIHHEH ===
88,0003 #9501 A 8,360
OrEgd+=s8 77,0002 *950H 2~ 7,315
OLk=4=1=3 200,000 *169H 2 3,200
OZ2E A=UE
50,0002 9504 2= x 122] 57,000
Al 17,400
- 39,600
OZz¢ 20110l XI& 21,067,000& 21,067
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X XH -
o=

el =eISXAIEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,533
T 10,534
307 elztol & 369,150 369,770 2620
Al 144,075
- 215,075
10 Al SXAAEEHE 22X 369,150 369,770 AB20
O3dzg 2gHl X 288,150,000 288,150
Al 144,075
- 144,075
02 2¥Hl XA (2Y £t 1)
71,000,000 71,000
2 g & e=dl X2 226,915 184,696 42,219
= 113,459
Al 56,728
- 56,728
307 lztol & 226,915 184,696 42,219
= 113,459
Al 56,728
- 56,728
10 AlRISTIAEEE 22X 226,915 184,696 42,219
OZ=2¢g el 158, 175,000 158,175
= 79,088
Al 39,544
- 39,543
OZ2¢ 4| 28,215,000 28,215
= 14,108
Al 7,053
- 7,004
oZzg =N 40,525,000 40,525
= 20,263
Al 10,131
- 10,131
F2E 2= 30,000 50,000 220,000
401 AIEHIZ SR HYI 30,000 50,000 /20,000
01 Al&HI 30,000 50,000 220,000
o324 MHE=+ 30,000,000 30,000
B2 (METD]) JIsE2 10,000 40,000 230,000
402 QIZHRH= 0| 10,000 40,000 A30,000
01 BIIX2AIZ 2 X (KT 10,000 40,000 30,000
O (MBEI) Js2Y
10,000,000 10,000
d2Y iz g2 11,800 11,060 740
201 ger=3| 11,800 11,060 740
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M MESHE LoISXIAE =
&2l RISXIAEXE EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 ArR2eltl 11,800 11,060 740
o483 22X URs
1,470,000& 1,470
O==Zd2Y 2 UR= 5,800,000& 5,800
OsESARY =X (28
945,000 945
ORILDI2EEY 22X AIE=
3,260,000& 3,260
OIEsZZY 2 MEZ
325,000 325
Y02 24 K& 3,988 2,240 1,748
201 B2 AY| 3,988 2,240 1,748
01 ArR22ltl 3,988 2,240 1,748
O |2 XN EMARI RS =Y
3,760,000& 3,760
OFILAI|2 XA S SXIZAL 2+
IEE2 SH2 3,800% %53 * 122 228
TEMHSLRAA 2Z 40,000 103,351 263,351
307 gI2Hol ™ 40,000 46,800 6,800
05 QIZtRIErZ 40,000 46,800 6,800
OTEHHEL AR SAHAL =
40,000,000& 40,000
MOt IS XA 229,824 220,050 9,774
Al 117,577
- 112,247
307 212+01 A 229,824 220,050 9,774
Al 117,577
- 112,247
11 AL =SXAMSEES 229,824 220,050 9,774
OMItI=XAMY 23
224,494,000& 224,494
Al 112,247
- 112,247
OMIL=QISXIAIE(SLIX) SXE=> X
850,000& 850
Al 850
OMIL=CISXIAIE(S2AR) SeAZH T
400,000& 400
Al 400
OMIL=CISXIAISE(S2AR) SSH & 2el
I =g 4,080,000 4,080
Al 4,080
Heeddz2e 29 34,800 33,600 1,200
Al 17,400
- 17,400
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&2l RISXIAEXE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 4,800 3,600 1,200
Al 2,400
- 2,400
10 Al SXAAEEHE2EHI2x 4,800 3,600 1,200
OMgeazg 2|
100,000 404 A+ 1200 2 4,800
Al 2,400
- 2,400
401 A2 HIZL 201 20,000 20,000 0
Al 10,000
- 10,000
01 Al&H| 20,000 20,000 0
ONgEERY BN
20,000,000 * 100 2 20,000
Al 10,000
- 10,000
405 AtaHE = 10,000 10,000 0
Al 5,000
- 5,000
01 Tt 2SS F=HI 10,000 10,000 0
Oogedzg =5+
10,000,000 * 1904 10,000
Al 5,000
T 5,000
LS Z2E A8 3SA 29,519 0 29,519
401 AIEHIX R0 29,519 0 29,519
01 A28l 29,519 0 29,519
OUENIESBZY HESAH ZAIEAH]
29,519,000& 29,519
Lol ZXelXd 11,796,203 9,893,479 1,902,724
= 5,832,953
Al 3,107,8%
- 2,855,355
Lokl ¥ ASIZ2SKIE =t 11,198,630 9,302,913 1,8%,717
= 5,832,953
Al 2,940,497
- 2,425,180
Colgittel ¥ AlBIESKIE #U(RelsUl S#3XZ0I 404,400 378,000 26,400
)
= 202,200
Al 101,100
- 101,100
201 fet=3| 21,600 21,600 0
= 10,800
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X XH -
o=

Tl wOIATR U AIBIZEXY BHY (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,400
T 5,400
01 Al22t2lH] 21,600 21,600 0
S2USY BHXZOIAY X
21,600,000& 21,600
= 10,800
Al 5,400
- 5,400
301 EtE NS 382,800 356,400 26,400
= 191,400
Al 95,700
- 95,700
14 JIEt2 8= 382,800 356,400 26,400
ogs=¢ 382,800,000 382,800
= 191,400
Al 95,700
- 95,700
CorgdXtel Y ASIESKIR S (D12 ALY) 10,208,190 8,356,300 1,851,890
= 5,349,743
Al 2,674,872
- 2,183,575
307 212+01™ 10,208,190 8,356,300 1,851,890
= 5,349,743
Al 2,674,872
- 2,183,575
1 AMISXAIEEX 10,208,190 8,356,300 1,851,890
OLoAtslg s (el Xtel) XA
10,208, 190,000 10,208,190
= 5,349,743
Al 2,674,872
- 2,183,575
Lolgittel ¥ AlSIESKIY SU(MEeE 012iH]) 562,020 547,713 14,307
= 281,010
Al 140,505
- 140,506
101 @1A4H| 29,580 28,827 753
= 14,790
Al 7,39%
- 7,39%
MU IIRIMZZENSES 29,580 28,827 753
OgXel=aol2 dgels elA|(7E)
29,580,000 29,580
= 14,790
Al 7,39
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L=
= Lo dXtel K&
ol Lol T 2 MED|R NI (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 167,398
T 430,175
colgiel &gl 249 X2 597,573 590,566 7,007
Al 167,398
- 430,175
201 Let=23 | 7,000 7,000
01 AtR2te|Hl 7,000 7,000
O7z2dE 2 AIE= 7,000,000& 7,000
307 @120l & 590,573 583,566 7,007
Al 167,398
- 423,175
10 AlRISTIAEEE 22X 585,573 578,566 7,007
OLoloIfLHE 2b| g
543,563,000 543,563
Al 137,753
= 405,810
OLQIUTR] AFRIEH ISR 2 AR ]
X&) 29,730,000& 29,730
Al 14,865
- 14,865
O QIRIZINLMIE AR SXES X2
2,200,000 2,200
Al 2,200
OLQIRIs e SAL S Z 8|
A& 1,200,000& 1,200
Al 1,200
OLIoIEIEEIEH SALA S8l X3
7,680,000 7,680
Al 7,680
OLCIoIEedE 22Xt =5 A&
1,200,000 1,200
Al 1,200
11 AMEISXAEEXS 5,000 5,000 0
OFSAILIO LHDIT2 I3 2
5,000,000& 5,000
Al 2,500
- 2,500
0 =X Atal F& 18,099,090 16,472,657 2,626,433
= 8,638,301
Al 5,651,962
- 3,808,827
SOHI M OrtI ALY X1 17,245,558 14,234,558 3,011,000
= 8,638,301
Al 5,252,162
- 3,355,095




2A:

HE: TOHol BX|AE| P
CHol: FOHOIMEOHHAIY XI” (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
gofelois =0 K= 2,638,899 2,471,510 167,389
= 1,847,229
Al 395,835
- 395,835
301 2eEN= 2,638,899 2,471,510 167,389
= 1,847,229
Al 395,835
- 395,835
01 Al EEHS(FRDEXMH) 2,638,899 2,471,510 167,389
OZoelgs 80 Xa
2,638,899,000& 2,638,899
= 1,847,229
Al 395,835
- 395,835
=== (01x) X2 740,413 493,308 247,105
= 518,289
Al 155,487
- 66,637
301 EtE NS 740,413 493,308 247,105
= 518,289
Al 155,487
- 66,637
01 Al EE A S (2 REEMR) 740,413 493,308 247,105
OFM=Z0Ix) X= 740,413,000 740,413
= 518,289
Al 155,487
- 66,637
o= (Xl S) K= 274,000 290,612 N 16,612
= 191,800
Al 57,540
T 24,660
301 LEtE NS 274,000 290,612 16,612
= 191,800
Al 57,540
- 24,660
01 A2 HSHS(RNEERTHE) 274,000 290,612 16,612
OZM= (a2 &) X2
274,000,000 274,000
= 191,800
Al 57,540
- 24,660
MtSSE0 dAHExE 126,422 121,122 5,300
Al 126,422
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Al 126,422
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ONtssSHMHA LA xS
126,422 ,000& 126,422
Al 126,422
ZOHULERD|I| WA 6,128 5,750 378
= 4,902
Al 613
- 613
301 EtE2 NS 6,128 5,750 378
= 4,902
Al 613
- 613
01 Al EE A ZS(2REXMR) 6,128 5,750 378
OFOHAIREIII| DEAFY
6,128,000& 6,128
= 4,902
Al 613
- 613
el 82 28 oty NE 3,600 0 3,600
Al 1,800
- 1,800
307 @120l & 3,600 0 3,600
Al 1,800
- 1,800
11 AMRISXAEEES 3,600 0 3,600
Ol ds=28+ 28 it X
3,600,000 3,600
Al 1,800
T 1,800
ZoHele=Hl K& 76,616 49,938 26,678
= 61,293
Al 16,323
308 AtAIEHMSOIE 76,616 49,938 26,678
= 61,293
Al 15,323
13 SI[2SOHE & EAS A 76,616 49,938 26,678
OFoeelzdl K& 76,616,000 76,616
= 61,293
Al 15,323
ZUHECHANE 23 3,000 3,000 0
= 1,500
Al 750
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SN OIF0fQI Dt
. ZOQ SXIAtel 28
CHol: FOHOIMEOHHAIY XI” (SHol: )
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OO MEHZHE 22
21,600,000& 21,600
Al 10,800
= 10,800
OFOHQIMEAS o 2|
5,000,000& 5,000
Al 5,000
ZONQISHOITHA Z2HE2D] XI& 3,204 2,350 854
Al 1,602
- 1,602
307 21201 & 3,204 2,350 854
Al 1,602
- 1,602
11 AMEISXAEEES 3,204 2,350 854
OZOHQIotOI A ZHEEI| XA
3,204,000 3,204
Al 1,602
- 1,602
ZHAUSEE HEHS ALY 5,958 6.876 2918
Al 2,979
- 2,979
201 et 3| 5,958 6,876 A918
Al 2,979
- 2,979
2 S52g4l 5,958 6.876 2918
OYMHISES HES A
5,958,000 5,958
Al 2,979
- 2,979
oSk =0 6,384,714 4,639,309 1,745,405
= 4,469,300
Al 957,707
- 957,707
307 elztol & 6,384,714 4,639,309 1,745,405
= 4,469,300
Al 957,707
- 957,707
05 2ItRIE =2 6,384,714 4,639,309 1,745,405
oasiE =20 6,384,714,000& 6,384,714
= 4,469,300
Al 957,707
- 957,707
AZ=Jt S 2K 478,000 498,788 20,788
Al 239,000




SN OIF0fQI Dt
. ZOQ SXIAtel 28
CHol: FOHOIMEOHHAIY XI” (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 239,000
307 gl2tol & 478,000 498,788 N20,788
Al 239,000
- 239,000
05 git?(& = 390,000 326,748 63,252
OAIFIt Ss802 2sX#
390,000,000 390,000
Al 195,000
T 195,000
1 AMEISXAEEXS 88,000 172,040 /84,040
OSSHML 24A 2SI
88,000,000 88,000
Al 44,000
- 44,000
o esiA Jhka¢ 115,962 65,886 50,076
= 81,174
Al 17,3%
- 17,3%
307 @120l & 115,962 65,886 50,076
= 81,174
Al 17,3%
- 17,3%
05 2I2tRIE =S 115,962 65,886 50,076
OZasXa IHtetat
115,962,000 115,962
= 81,174
Al 17,3%
- 17,3%
oIS AEAL SeAZH 8 X3 28,000 16,000 12,000
Al 28,000
307 glztol & 28,000 16,000 12,000
Al 28,000
11 ARRIS XA E X 28,000 16,000 12,000
Ol 2SXI2AL SSH LI
28,000,000 28,000
Al 28,000
OS2 NE del?de =24 2,520 2,520
201 et 3| 2,520 2,520
01 At22t2l] 2,520 2,520
OSSN =2 AN AR A
=g 70,0002 *x38 *123] 2,520
oIS AEAMEIA MBSJ2 XS AR 29 350 0 350
201 Ler23| 350 350
01 At2teltl 350 350
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2A:

S ZOHC!I SXIAte &
CHel: FONOIMEOIE AL XIS (cre:xigl)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OISR AMEIA MBD12 XE AJ
32 350
—s=9 50,0002 *13] 50
— &A= 100,000 *3H 300
LEMMEAEIA BIRH K& 558,615 384,000 174,615
= 391,031
Al 83,792
- 83,79%
307 gIzHol 558,615 384,000 174,615
= 391,031
Al 83,79
- 83,792
05 QIZIRIErZ 558,615 384,000 174,615
OLLHENHIA BIRH X2
558,615,000& 558,615
= 391,031
Al 83,79
- 83,792
AHLEXR UM K& 2,160 2,160 0
= 1,512
Al 324
- 324
307 QI2Hol ™ 2,160 2,160 0
= 1,512
Al 324
- 324
05 QIZtRES 2,160 2,160 0
OANZEXA Bt2X X2
2,160,000& 2,160
= 1,512
Al 324
- 324
LTS PEAEHXA 1,920 3,840 A1,920
= 1,344
Al 288
- 283
307 2I2+01A 1,920 3,840 21,920
= 1,344
Al 288
- 288
05 2IZ2tRES 1,920 3,840 21,920
OgEZe 224X
1,920,000& 1,920
= 1,344




SN OIF0fQI Dt
. ZOQ SXIAtel 28
CHol: FOHOIMEOHHAIY XI” (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 288
- 288
LEHQ F2HESHHIA 1,223,872 1,110,262 113,610
= 856,710
Al 183,581
- 183,581
307 lztol & 1,223,872 1,110,262 113,610
= 856,710
Al 183,581
- 183,581
05 2ItRIE= 1,223,872 1,110,262 113,610
OYLROR! FABEAHIA
1,223,872,000& 1,223,872
= 856,710
Al 183,581
- 183,581
LEEONQ! AIFIF F2HESAHIA 36,304 36,304 0
Al 18,152
T 18,152
307 elztol & 36,304 36,304 0
Al 18,152
- 18,152
05 212t =S 36,304 36,304 0
O2L I AIFIt F2HESABIA
36,304,000 36,304
Al 18,152
- 18,152
LR HUSBSAHIA 300,767 251,586 49, 181
= 210,537
Al 45,115
- 45,115
307 21201 & 300,767 251,586 49, 181
= 210,537
Al 45,115
- 45,115
05 212t =S 300,767 251,586 49, 181
OZLH HU=2SAHIA
300,767,000 300,767
= 210,537
Al 45,115
- 45,115
S S REEPN = RN R 24,000 31,800 AT7,800
Al 12,000
- 12,000
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SA I OoNel 1t
Mmool ZXAS PE
CHol: EHOHOIMEOIE ALY X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
078 HOOI=ITSHE Te 12h| Al
3,750,000 x22|*2)H A 15,000
10 Al SXAZEHE 22X 430,020 420,748 9,272
OMIt= e 29 159,046,000 159,046
Al 79,523
= 79,523
OBIZH BOYQFALSHE 2
218,624,000 218,624
Al 109,312
- 109,312
OBA SXF4 X (HOHRI=XIZ, Kot
SAHE, FAZSHH)
13,950,000 13,950
Al 13,950
OSA SeAZHTH(ZoI=sX2t, T
HSXNHE, FAZSHEH)
4,800,000& 4,800
Al 4,800
OSAHA S8l & 22X X (ZFoHe!
SX, WIHLKHE, Z2HESHE
33,600,000& 33,600
Al 33,600
ZOHRIAFAIE 23 K& 180,554 174,511 6,043
Al 93,627
T 86,927
307 elztol & 180,554 174,511 6.043
Al 93,627
- 86,927
10 Al SAAEEHE 22X 180,554 174,511 6,043
OZFANFAIE 28 K&
173,854,000 173,8%4
Al 86,927
- 86,927
OHMANFAIE =XNE= X
1,300,000 1,300
Al 1,300
OHMLIHFAIE SetHZH 8 X2
600,000 600
Al 600
OZOMHANFAIE SAHL St K&
4,800,000 4,800
Al 4,800
e SHOIHFAIE 2 410,220 397,876 12,344
Al 209,745
- 200,475
307 212+01& 410,220 397,876 12,344




A =QIE0HRI Dt
Mmool ZXAS PE
SIPl: FONOIM BN Ate] KR (crel:ze)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 209,745
- 200,475
10 Al SXAIEHE2ZHIEX 410,220 397,876 12,344
OZOHR! EDIHFAIE 2
400,950,000& 400,950
Al 200,475
- 200,475
Q&L HIH=AIE SXE K&
1,950,000& 1,950
Al 1,950
OFONQ! EIINFAIL BAX BEALAT
]l 600,000 600
Al 600
OZOHR! SIIHFAIE SALAL S| XI&
6,720,000& 6,720
Al 6,720
ZOHQI KIS MEMEH 2 218,290 202,956 15,334
Al 112,290
- 106,000
307 gI2tol 218,290 202,956 15,334
Al 112,290
- 106,000
10 AIEISXAIEHE2ZHIEX 218,290 202,956 15,334
OIS MEHE 2
212,000,000& 212,000
Al 106,000
- 106,000
OZ NI KNS MEMEH SAA =Hl X
3,840,000& 3,840
Al 3,840
O OHQI KIS MEMIE SARL 2telkt =2
X3 1,200,000& 1,200
Al 1,200
OHOMAXSHHEHEHSAA EXNE = XA
1,050,000& 1,050
Al 1,050
QTN KIS MEME SAIK SeA23 8
gl XI& 200,000& 200
Al 200
ZOHISEH2EAIY F& 371,141 110,8% 260,246
Al 183,926
- 187,215
307 212+01 A 106,807 110,8% A4,088
Al 51,759
- 55,048
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SA I OoNel 1t
. ZOQ SXIAtel 28
Eelr ZOoHR! MNAMEAL 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 180,250
10 Al SXA2EE 22X 329,810 288,738 41,072
oozt Zofel HAMEAL 29
282,500,000 282,500
Al 141,250
- 141,250
OBONQ! FATHEAIE BAX ZXF4 X
! 2,950,000& 2,950
Al 2,950
Ol MNAHEAIL SAHAL Setdd3d
Bl XI& 1,400,000& 1,400
Al 1,400
OHONQ MATHBAIL BAX S L 2
clAt =& X3 12,960,000 12,960
Al 12,960
OBONO! HATHEAILE ZHHOQ HhS+S
A& 30,000,000& 30,000
Al 15,000
- 15,000
ZOHe! HoSE At 117,462 176,254 N\58,792
Al 45,990
- 71,472
ZOHQ! HOSA AMY 26,942 83,982 A\57,040
201 et 3| 26,002 42,117 16,025
01 At2t2l] 6.892 12,792 25,900
OYMHAMEFIFS 22128 DEE2 S
#z 192,0002 192
OHNUHBEXTY B2I2Y ADBE
4,200,000& 4,200
ONEE R E
1,500,000 1,500
O s BRI SHI| ==citl
1,000, 0002 1,000
° BZ2ZH| 19,200 29,325 £10,125
ORNOIRBFNT S 78t YEHZ =2
FHE Q= 16,200,000& 16,200
OFOMIFX7S 28 MDNACALE T
Zeldl 3,000,000& 3,000
203 gF=4| 850 950 A100
03 A=A 2= 850 950 2100
OHMHAANE 28 S22 =
1,000,000 85% 850
ST YO0He HoEX JI=XEHH 2SR 85,020 77,092 7,928
Al 43,240
- 41,780
307 @20l & 85,020 77,092 7,928
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SN COIFORQI D
I el & }EIXIOJ
Rl ZoHe! Xl 2g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZoHe!l Litel 29 1,380,462 1,342,948 37,514
= 658,370
Al 360,941
- 361,151
ZoHe! X2l XIJA(LerELtel) 798,488 836,196 A37,708
= 399,244
Al 199,622
- 199,622
101 ©1AH| 798,488 836,19 A37,708
= 399,244
Al 199,622
- 199,622
04 JIZtN22 XS 2+ 798,488 836,19 A37,708
OFOpQ! Xtel X (Lerd dxtel)
798,488,000 798,488
= 399,244
Al 199,622
- 199,622
ZoHel Xiel X (SXLRt2l) 165,844 175,472 N9,628
= 82,922
Al 41,461
- 41,461
101 @124H| 165,844 175,472 A9,628
= 82,922
Al 41,461
T 41,461
M OIRIMZZ2NSE S 165,844 175,472 N9,628
OZoHel 2Xxtel X (SXLXtel)
165,844,0002 165,844
= 82,922
Al 41,461
T 41,461
ZoHel LXel X (AREMLXI2) 221,700 187,468 34,232
= 110,850
Al 55,425
T 55,425
101 @124H| 221,700 187,468 34,232
= 110,850
Al 55,425
- 55,425
M ORNZZ2NSE S 221,700 187,468 34,232
OZoHel Xl KA (AR Rtel)
221,700,000 221,700
= 110,850
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SA I OoNRl
S ZO Xl XA
e Zojel gxel =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 55,425
T 55,425
Dol AR2l KR (LT 2UBSA BEU2 130,708 27,756 2,95
)
= 65,354
Al 32,677
T 32,677
307 elztol & 130,708 127,756 2,952
= 65,354
Al 32,677
- 32,677
11 AMEISXAEEES 130,708 127,756 2,952
OL LI QLAESAI EX Rl At
130,708,000 130,708
= 65,354
Al 32,677
- 32,677
ZOHQ! LRiel X2 (ESSEHML XS SXLN2l) 63,722 16,056 47,666
Al 31,756
- 31,966
201 er=23| 210 210
01 AtR2te|Hl 210 210
OssZ0el 58 SALACIAY =]
2 HARIEE 2 210,000 210
307 21201 & 63,512 16,056 47,456
Al 31,75
- 31,756
11 AMEISXAEEES 63,512 16,056 47,456
O=SZe =S SNLRE A
63,512,000 63,512
Al 31,756
- 31,756
el 2x%tel 2 41,684 41,102 582
ZoHe! Xiel XA (ZHe H8 Fx7S &= dXjel 41,684 41,102 582
)
101 21AH| 41,464 40,682 782
04 JIZtN2 2N S 2+ 41,464 40,682 782
OZoHe! LXtel NS (FoHe! M8 =X+
=l xtel) 41,464
—JlZ2= 1,084,6002 «3&+0E 29,285
—g Xt 394,400 34 1,184
—F=5=¢ 197, 2003 3 +9& 5,325
— S0l 55,0002 x3H 0 1,485
—22dES 55,000 x3H 0 1,485
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SA: LoIE0H et
mH: Zojol LXiel X
ohelr ZOHRl X Xtel 2 (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—=32¢3 60,0002 x3H+9E 1,620
A=t 30,0003 *3E+9H 810
—AHHEE 90,000 *3H 270
201 Ler23H| 220 420 A200
01 At 2elt] 220 420 A200
O ME F=X79Y ¢ S Xiel
g 220,000& 220




